
Year 4 – Measure - Converting Millilitres and Litres 

 
Remember... 

1000 ml is equal to (or the same as) 1l. 
 

Millilitres in to litres = Divide by 1000 

Litres in to millilitres = Multiply by 1000 

 

Convert these masses into the unit of measure given. 
 

1 

a) 4 ml = _____ l 
 

b) 37 ml = _____ l 
 

c) 140 ml = _____ l 
 

d) 565 ml = ______ l 
 

e) 3000 ml = _____ l 
 

f) 4030 ml = _____ l 
 

g)  6 l = _____ ml 
 

h) 4.6 l = _____ ml 
 

i) 2.36 l = _____ ml 
 

j) 0.8 l = _____ ml 
 

k) 9.75 l = ______ ml 
 

 



2. 
 

a) Mr. Morgan wanted to convert 2.57 litres of juice 
into millilitres. How much millilitres would this be? 
 
____________________ 
 
 

b) Mr Douglas wanted to convert 982 millilitres of 
milk into litres. How much milk did he have? 
 
_____________________ 

 
 

 
 

 
 
 

 
 

 

  
  

 
 


